N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%] F
< F : = 2
S10°F S sk 1]
105k R g
10°F =
E E =
104; E Sl
10°F
10°F E
E 1%
10
10;r 105—
1k i
o i
S H‘i DOM_ CKF TT | retramOIdFlIeslzs v2 prellmWPM epochz
L S | T h.m“‘\ HIHIIIIHIHH I T h.mm“‘\ 10001 1 =
1 i 1[— : f!
0 T 0 TR BEIH | RN
0.95! . 0950t LU L MLAL 10 L o 0.95! I 0.
=25- 20 15-10-5 0 5 10 15 20 25 =25-20-15-10-5 0 5 10 15 20 25 —25—20 15 10-5 0 5 10 15 20 25 =25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 L 2
g 2 g
=1 81 it
Q.
3
10°
10?
o
T
4
1
0.95! . : L ’ : 0. . : L L : 0.95" : : : : : 0.9
=30 -20 -10 O 10 20 30 =30 -20 -10 O 10 20 30 =30 -20 -10 O 10 20 30 30 -20 —1 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


